
MATHS

BOOKS - MTG WBJEE MATHS (HINGLISH)

INDEFINITE INTEGRALS

Wb Jee Workout Category 1 Single Option Correct Type

1. Evaluate : 

A. 

B. 

C. 

D. 

Answer: B

h id l i

∫ dx
x2

x(1 + x2)

log∣∣1 + x2∣∣ + c

log∣∣1 + x2∣∣ + c
1
2

log∣∣1 + x3∣∣ + c

log∣∣1 + x3∣∣ + c
1

3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7E4s11G4kyaV


Watch Video Solution

2. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
x3

(1 + x8)

4 tan− 1(x3) + c

tan− 1(x4) + c
1

4

x + 4 tan− 1(x4) + c

x2 + tan− 1(x4) + c
1

4

3. 

A. 

B. 

C. 

∫
dt

t + √a2 − t2

sin( ) + log(t + √a2 − t2) + c
1

2
t

a

sin− 1( ) + log√t + √a2 − t2 + c
1

2
t

a

sin− 1( ) + log√a + √a2 − t2 + c
1

2
t

a

https://dl.doubtnut.com/l/_7E4s11G4kyaV
https://dl.doubtnut.com/l/_Z1KOgaUhwb0q
https://dl.doubtnut.com/l/_XMeeeRTL4uNs


D. None of these

Answer: B

Watch Video Solution

4.  dx is equal to -

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫
x2 − 1

(x2 + 1)√x4 + 1

sec− 1( ) + c
x2 + 1

x√2

sec− 1( ) + c
1

√2

x2 + 1

√2

sec− 1( ) + c
1

√2

x2 + 1

x√2

5. ∫ dx
sin− 1 x

√1 − x2

https://dl.doubtnut.com/l/_XMeeeRTL4uNs
https://dl.doubtnut.com/l/_ZRpfUJnj5EZJ
https://dl.doubtnut.com/l/_cuYbLefHm4GX


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

log(sin− 1 x) + c

(sin− 1 x)
2

+ c
1

2

log(√1 − x2) + c

sin(cos − 1 x) + c

6. If

then

A. 

B. 

C. 

D. None of these

∫(x6 + x4 + x2)(2x4 + 3x2 + 6)
1 / 2

dx = k(Ax6 + Bx4 + Cx2)
p

+ C1

k = , A = B = C = p
1

18

k = , A = 2, B = 3, C = 6, p =
1

18

3

2

k = 3, p = , A = B = C
1

3

https://dl.doubtnut.com/l/_cuYbLefHm4GX
https://dl.doubtnut.com/l/_8vRRkA3WwTU5


Answer: B

Watch Video Solution

7. If , then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫sin4 xelog cos xdx = sinp x + c
1

k

k ≠ p

k = 3, p = 5

k = p = 5

k = p = − 5

8. If ,

where 

∫



⎷ dx = A√1 − x + B sin− 1

√x + C√x − x2 + D
(1 − √x)

1 + √x

A + B + C =

https://dl.doubtnut.com/l/_8vRRkA3WwTU5
https://dl.doubtnut.com/l/_UdzSAlnOjWtc
https://dl.doubtnut.com/l/_smDvaGUNbsYc


A. 

B. 

C. 3

D. 

Answer: B

Watch Video Solution

−1

−2

−4

9. 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫ dx =
sin(2x)

a cos2 x + b sin2 x

(b − a)log(a cos2 x + b sin2 x) + c

log(a cos2 x + b sin2 x) + c
1

b − a

log(a cos2 x − b sin2 x) + c
1

b − a

https://dl.doubtnut.com/l/_smDvaGUNbsYc
https://dl.doubtnut.com/l/_T9TdiNSFcbLZ


10. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
(x − 1)ex

(x + 1)3

+ c
ex

x + 1

ex( ) + c
x

x + 1

+ c
ex(x − 1)

(x + 1)2

+ c
ex

(x + 1)2

11. 

A. 

B. 

C. 

∫(xx)
2
(1 + logx)dx =

+ c
(xx)2

2

xx + c

+ c
xx

2

https://dl.doubtnut.com/l/_T9TdiNSFcbLZ
https://dl.doubtnut.com/l/_CnFpgP4PPkCo
https://dl.doubtnut.com/l/_62zkA14eRdmV


D. None of these

Answer: A

Watch Video Solution

12.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ex( − )dx
2

x

2

x2

+ c
ex

x

+ c
ex

2x2

+ c
2ex

x

+ c
2ex

x2

13. Evaluate:
∫ dx
x2 − 1

(x4 + 3x2 + 1)tan− 1(x + )1
x

https://dl.doubtnut.com/l/_62zkA14eRdmV
https://dl.doubtnut.com/l/_pkpWGURMb6Ba
https://dl.doubtnut.com/l/_7Q4qgrQWhqL7


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1(x + ) + c
1

x

cot − 1(x + 1/x) + c

log(x + 1/x) + c

log[tan− 1(x + 1/x)] + c

14.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
mxm+ 2n− 1 − nxn− 1

x2m+ 2n + 2xm+n + 1

+ c
xm

xm+n + 1

+ c
xn

xm+n + 1

+ c
xm+n − 1
xm+n + 1

− + c
xn

xm+n + 1

https://dl.doubtnut.com/l/_7Q4qgrQWhqL7
https://dl.doubtnut.com/l/_8Qc2pu2Zpq2x


15. 

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫ dx =
log(x/e)

(logx)
2

+ c
logx

x

+ c
x

logx

+ c
x

(logx)2

16. 

A. 

B. 

C. 

∫cos √xdx =

− + c
sin √x

2√x

√x sin √x + cos √x + c

2(√x sin √x + cos √x) + c

https://dl.doubtnut.com/l/_8Qc2pu2Zpq2x
https://dl.doubtnut.com/l/_FFOv4AYPaaoP
https://dl.doubtnut.com/l/_Ga1aPnUc3AER


D. 

Answer: C

Watch Video Solution

2[√x sin √x − cos √x] + c

17. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫ dx
sinx + cos x

√1 + sinx

log(sinx + cos x) + c

x + c

logx + c

√1 + sin2 x + c

18.  equals∫
e2xdx

4√ex − 1

https://dl.doubtnut.com/l/_Ga1aPnUc3AER
https://dl.doubtnut.com/l/_YKAIM1GVx3SE
https://dl.doubtnut.com/l/_gKV5py8ipesx


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(ex − 1)3 / 4(3ex + 4) + c
4
21

+ c
(ex − 1)1 / 4(3ex + 4)

21

(ex + 1)(3ex + 4)
4

21

19. The value of the integral  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
dx

(ex + e−x)

(e2x + 1) + c
1

2

(e− 2x + 1) + c
1

2

− (e2x + 1)
− 11

2

(e2x − 1) + c
1

4

https://dl.doubtnut.com/l/_gKV5py8ipesx
https://dl.doubtnut.com/l/_rZqyUu0n1OWU


20. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
sin 2xdx

1 + sin2 x

tan− 1(sinx) + c

tan− 1(cos x) + c

log(1 + sin2 x) + c

log(x + sin2 x) + c

21. 

A. 

B. 

C. 

∫ dx =
cot x

√sinx

− + c
2

√sinx

2

√sinx + c

2√sinx + c

https://dl.doubtnut.com/l/_rZqyUu0n1OWU
https://dl.doubtnut.com/l/_0v3dzPKp18VL
https://dl.doubtnut.com/l/_6spkrhZtaEVu


D. 

Answer: A

Watch Video Solution

+ c
1

2√sinx

22. 

A. 

B. 

C. 

D. 1

Answer: A

Watch Video Solution

If ∫√1 + sinxf(x)dx = (1 + sinx)3 / 2 + c,  then f(x)  equals 
2

3

cos x

sinx

tanx

https://dl.doubtnut.com/l/_6spkrhZtaEVu
https://dl.doubtnut.com/l/_rHtYH3vS1fql


23.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫tan− 1
√xdx

x tan− 1 x − log(1 + x2) + c
1

2

x tan− 1
√x − log(1 + x2) + c

1

2

x tan− 1
√x − √x + log(1 + x) + c

(x + 1)tan− 1
√x − √x + c

24.  ,then k=

A. 

B. 

C. 

D. 

∫x6 sin(5x7)dx = cos(5x7) + c
k

5

k = 7

k = − 7

k =
1

7

k = −
1

7

https://dl.doubtnut.com/l/_j1kKwpubmLtA
https://dl.doubtnut.com/l/_jGram8UGpyme


Answer: D

Watch Video Solution

25.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫√1 + cos xdx

2√2 cos + c
x

2

2√2 sin + c
x

2

√2 cos + c
x

2

√2 sin + c
x

2

26.  equals

A. 

∫ dx
x1 / 2

x3 + a3

tan− 1 ( )
3 / 2

+ c
1

3
x

a

https://dl.doubtnut.com/l/_jGram8UGpyme
https://dl.doubtnut.com/l/_Scz5CaHTqbHc
https://dl.doubtnut.com/l/_kUoA0zmQjxcg


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

tan− 1 ( )
3 / 2

+ c
2

a3 / 2

x

a

tan− 1 ( )
3 / 2

+ c
2

3

1

a3 / 2

x

a

27. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
dx

sin2 x cos2 x

tanx + cot x + c

tanx − cot x + c

tanx cot x + c

tanx − cot 2x + c

https://dl.doubtnut.com/l/_kUoA0zmQjxcg
https://dl.doubtnut.com/l/_EY4tDeres5La
https://dl.doubtnut.com/l/_nv1zL7KII4jD


28. 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫ dx
1 − cos x

cos x(1 + cos x)

log(secx + tanx) − 2 tan + c
x

2

log(secx + tanx) + 2 tan + c
x

2

log(secx − tanx) − tan + c
x

2

29. 

A. 

B. 

C. 

D. 

∫ =
dx

sinx − cos x

log tan( − ) + c
1

√2

x

2

π

8

log tan( + ) + c
x

2

π

8

log tan( + ) + c
1

2
x

2

π

8

log tan(x + ) + c
1

√2

π

4

https://dl.doubtnut.com/l/_nv1zL7KII4jD
https://dl.doubtnut.com/l/_IA0I6OUgEXvb


Wb Jee Workout Category 2 Single Option Correct Type

Answer: A

Watch Video Solution

30. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫ dx =
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

− sin 2x + c
1

2

sin 2x + c
1

2

sinx + c
1

2

− sinx + c
1

2

https://dl.doubtnut.com/l/_IA0I6OUgEXvb
https://dl.doubtnut.com/l/_baT1viW9Jri5


1. If , then 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∫√2 + tan2 xdx − ln tanx + √2 + tan2 x + f(x) + c

f(x) =

sin− 1( )
sinx

√2

cos − 1( )
sinx

√2

cos − 1( )
cos x

√2

sin− 1( )
cos x

√2

2. Find  equals

A. 

B. 

C. 

∫
dx

(x2 + a2)(x2 + b2)

[ tan− 1( ) − tan− 1(x)] + c
1

b2 − a2

1

b

x

a

1

a

[ tan− 1( ) − tan− 1( )] + c
1

b2 − a2

1

a

x

a

1

b

x

b

tan− 1( ) + tan− 1( ) + c
1

a

x

a

1

b

x

b

https://dl.doubtnut.com/l/_pjFYtERVH6oC
https://dl.doubtnut.com/l/_DqeGvnuQP7N7


D. 

Answer: B

Watch Video Solution

tan− 1( ) − tan− 1( ) + c
1

a

x

a

1

b

x

b

3. 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫ dx
a + b sinx

(b + a sinx)
2

+ c
−cos x

b + a sinx

+ c
cos x

b + a sinx

sinx

b + a sinx

4. ∫(x7m + x2m + xm)(2x6m + 7xm + 14) dx
1
m

https://dl.doubtnut.com/l/_DqeGvnuQP7N7
https://dl.doubtnut.com/l/_JvwFy0x4MWg7
https://dl.doubtnut.com/l/_9HV5EgChLy1W


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

+ c
(x7m + x2m + xm)

m+ 1

m + 1

(2x7m + 7x2m + 14xm) + c
1

14(m + 1)

m+ 1
m

(2x7m + 7x2m + xm) + c
m+ 1
m

5. If

,

then

A. 

B. 

C. 

D. 

∫ dx = A tan− 1(B tanx + C) + k
1

4 sin2 x + 4 sinx cos x + 5 cos2 x

A = 1/4, B = 1/2, C = 1

A = 1/2, B = 1/4, C = 1

A = 1, B = 1/2, C = 1/4

A = 1/4, B = 1, C = 1/2

https://dl.doubtnut.com/l/_9HV5EgChLy1W
https://dl.doubtnut.com/l/_lAhBrYwzUSHu


Answer: D

Watch Video Solution

6.  then the value A and K

respectively are

A. 

B. 

C. does not exist

D. 

Answer: D

Watch Video Solution

∫ dx = A log( ) + c
(√x)

3

(√x)
5

+ x4

xk

xk + 1

and
3
2

2

3

and 2
3
2

and
2

3

3
2

https://dl.doubtnut.com/l/_lAhBrYwzUSHu
https://dl.doubtnut.com/l/_hcDhpGquSJ2a


7. If  equals 

, then value of k, p, q are

respectively are

A. 

B. 

C. 

D. None of these

Answer: B

View Text Solution

∫√x + √x2 + 2dx

k(x + √x2 + 2)
p / 2

− + c
2

(x + √x2 + 2)
q

2

, , 1
4

3

3

2

, 3, 1
1

3

−2, , 1
1

3

8. 

A. 

B. 

∫
dx

1 + 2 sinx + cos x

log(2 sinx + cos x) =

log(2 + 2 tan ) + c
x

2

https://dl.doubtnut.com/l/_xFSNPQFFr1ui
https://dl.doubtnut.com/l/_ouAJJGr0Pk0i


C. 

D. 

Answer: C

Watch Video Solution

log(1 − 2 tan ) + c
1

2
x

2

log(1 + 2 tan ) + c
1

2
x

2

9. Evaluate 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫(√tanx + √cot x)dx

√2 tan− 1( ) + c
tanx

√2 tanx

√2 tan− 1( ) + c
tanx − 1

√2 tanx

tan− 1( ) + c
tanx

√2

cot x + 1

√2 tanx

tan− 1( ) + c
tanx

√2

cot x − 1

√2 cot x

https://dl.doubtnut.com/l/_ouAJJGr0Pk0i
https://dl.doubtnut.com/l/_ZhtXTitRNPHI


10.  equals

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫xe2x(1 + x)dx

+ e + c
xex

2

+ c
(ex)

2

2

+ c
(1 + x)2

2

+ c
(exx)2

2

11. 

A. 

B. 

C. 

D. None of these

∫ =
x2dx

(x sinx + cos x)
2

+ c
sinx + cos x

x sinx + cos x

+ c
x sinx − cos x

x sinx + cos x

+ c
sinx − x cos x

x sinx + cos x

https://dl.doubtnut.com/l/_YzzHLTAT2ISD
https://dl.doubtnut.com/l/_uDNb0Yo5au4A


Answer: C

Watch Video Solution

12. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

∫[ ]

1 / 4

dx =
1

(x + a)3(x + b)5

( )
1 / 4

+ c
1

(b − a)

x + b

x + a

− ( )
1 / 4

+ c
1

(b − a)

x + a

x + b

( )
3 / 4

+ c
4

b − a

x + a

x + b

( )
1 / 4

+ c
4

b − a

x + a

x + b

13. If , then

A. 

∫ dx = Ax + B log(3e2x + 4)
2ex + 3e−x

3ex + 4e−x

A = − , B =
3

4

1

24

https://dl.doubtnut.com/l/_uDNb0Yo5au4A
https://dl.doubtnut.com/l/_haPc19cLwK0C
https://dl.doubtnut.com/l/_xgp5d89do48L


B. 

C. 

D. 

Answer: B

View Text Solution

A = , B = −
3

4

1

24

A = , B =
1

4

1

24

A = − , B =
3

4

1

4

14. If , then the values of a

& b are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫(sin 2x − cos 2x)dx = sin(2x − a) + b
1

√2

a = − , b ∈ R
5π

4

a = , b ∈ R
5π

4

a ∈ R, b =
5π

4

b = − , a ∈ R
5π

4

https://dl.doubtnut.com/l/_xgp5d89do48L
https://dl.doubtnut.com/l/_ismSbbxcb99e


Wb Jee Workout Category 3 One Or More Than One Option Correct Type

1. 


 (b) 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Iff(x)sinx cos xdx = lnf(x) + c, thenf(x)isequa < o
1

2(b2 − a2)
1

a2 sin2 x + b2 cos2 x

1

a2 sin2 x − b2 cos2 x

1

a2 cos2 x + b2 cos2 x
1

a2 cos2 x − b2 cos2 x

tan− 1( ) + c
1

ab

a tanx

b

ab tan− 1( ) + c
a tanx

b

tan− 1( ) + c
1

ab

b tanx
a

tan− 1(tan ) + c
1

ab

bx

a

2. If , then∫e2x( )dx = Ae2x. f(x) + c
1 + sin 2x

1 + cos 2x

https://dl.doubtnut.com/l/_ismSbbxcb99e
https://dl.doubtnut.com/l/_6OCiXsSfJHxX
https://dl.doubtnut.com/l/_ATYSpOI6tjlq


A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

A =
1

2

A =
1

3

f(x) = tanx

f(x) = tan2 x

3. If , then

A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

∫x log(1 + x2)dx = ϕ(x)log(1 + x2) + x(Ψ) + C

ϕ(x) =
1 + x2

2

Φ(x) =
1 + x2

2

Φ(x) = − (1 + x2)
1

2

ϕ(x) =
−1 + x2

2

https://dl.doubtnut.com/l/_ATYSpOI6tjlq
https://dl.doubtnut.com/l/_8FfSdzopmwyK


4. 

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

∫√1 + sin 2xdx =

sinx + cos x + c∀x ∈ R

sinx − cos x + c∀x ∈ R

sinx − cos x + c, x ∈ [ , ]
−π

4

3π

4

cos x − sinx + c, x ∈ [ , ]
3π

4
7π
4

5. If , then

A. 

B. 

C. 

∫ex dx = + c
x − 1

(x + 1)3

ex

(g(x))
a

g(x) = (x + 1)2

g(x) = x + 1

a = 3

https://dl.doubtnut.com/l/_8FfSdzopmwyK
https://dl.doubtnut.com/l/_nX925iRHTapY
https://dl.doubtnut.com/l/_0j0yPV67I3xX


D. 

Answer: B::D

Watch Video Solution

a = 2

6. If , then

A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

∫ = [log( )] + c
dx

cos(x − a)cos(x − b)

1

A

f(x)

g(x)

A = sin(a − b)

f(x) = sec(x − b)

g(x) = sec(x − a)

A = sin(b − a)

7. If  then∫ = A( )
B

+ c,
dx

x2(x4 + 1)
3 / 4

x4 + 1

x4

https://dl.doubtnut.com/l/_0j0yPV67I3xX
https://dl.doubtnut.com/l/_HRnOGnEQAJRx
https://dl.doubtnut.com/l/_lROU2RR7BnFR


A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

A = − 1

B =
1

4

A =
1

2

B =
1

2

8. If

then

A. 

B. 

C. 

D. 

∫ dx = A loge(loge x) + B loge(1 + loge x) + C loge(
logx e. logex e. loge2x e

x

A + B = 0

A + B = − 1/2

A + C = 0

A − C = 0

https://dl.doubtnut.com/l/_lROU2RR7BnFR
https://dl.doubtnut.com/l/_LrOqFKJCRBay


Answer: B::D

Watch Video Solution

9. Evaluate: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫(x + 2) √x2 + x + 1 dx

+ √x2 + x + 1 − √x2 + x + 1 + c
(x2 + x + 1)

3 / 2

3

3(2x + 1)

8

9

16

+ √x2 + x + 1 + log
∣
∣
∣
(x + )

∣
∣
∣

+ c
(x2 + x + 1)

3 / 2

3

3(2x + 1)

8

9

16

1

2

+ √x2 + x + 1 + log
∣
∣
∣
(x + ) + √

(x2 + x + 1)
3 / 2

3

3(2x + 1)

8

9

16

1

2

√x2 + x + 1 + log
∣
∣
∣
(x + ) + √x2 + x + 1

∣
∣
∣

+ c
3(2x + 1)

8

9

16

1

2

https://dl.doubtnut.com/l/_LrOqFKJCRBay
https://dl.doubtnut.com/l/_8sChb7dnqIJ9


10. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫ dx
3x + 1

(x − 2)2(x + 2)

log
∣
∣
∣

∣
∣
∣

− + c
5

16

x − 2

x + 2
7

(x − 2)

log
∣
∣
∣

∣
∣
∣

+ + c
x − 2

x + 2
7

4(x − 2)

log
∣
∣
∣

∣
∣
∣

+ + c
5

16

x − 2

x + 2
7

4(x + 2)

log
∣
∣
∣

∣
∣
∣

− + c
5

16

x − 2

x + 2
7

4(x − 2)

11. 

A. 

B. 

C. 

∫ dx =
1

√(x − 2)(x − 3)

log
∣
∣
∣
(x + ) + √x2 + 5x + 6

∣
∣
∣

+ c
5

2

log
∣
∣
∣
(x − ) + √x2 − 5x + 6

∣
∣
∣

+ c
5

2

log
∣
∣
∣
(x − ) + √x2 + 5x + 6

∣
∣
∣

+ c
5

2

https://dl.doubtnut.com/l/_8sChb7dnqIJ9
https://dl.doubtnut.com/l/_q0BVQKipEQsp
https://dl.doubtnut.com/l/_hHMp7kg8Qe2C


D. 

Answer: B

Watch Video Solution

log
∣
∣
∣
(x − ) + √x2 − 5x − 6

∣
∣
∣

+ c
5

2

12. 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫ex
⎡

⎣

⎤

⎦
dx

x3 + x + 1

(1 + x2)
3
2

xex√1 + x2 + c

+ c
xex

(1 + x2)
2

+ c
xex

1 + x2

13. If  and  find f' (x) = 4x3 − 3x2 + 2x + k f(0) = 1, f(1) = 4 f(x)

https://dl.doubtnut.com/l/_hHMp7kg8Qe2C
https://dl.doubtnut.com/l/_jETFAA914ORj
https://dl.doubtnut.com/l/_iiiM0I3AnFOo


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x4 − x3 + x2 + 2x + 1

x4 − x3 + x2 + x + 2

x4 − x3 + x2 + 2x + 2

x4 − x3 + x2 + x + 1

14. 

A. 

B. 

C. 

∫ dx =
cos x

(1 − sinx)3(2 + sinx)

− log|1 − sinx| − + − log|2 + sin
1

27

1

9(1 − sinx)

1

6(1 − sinx)2

1

27

log|1 + sinx| − − + log|2 + sinx|
1

27

1

9(1 + sinx)

1

6(1 − sinx)
2

1

27

− log|1 + sinx| − − + log|2 + sin
1

27

1

9(1 − sinx)

1

6(1 − sinx)
2

1

27

https://dl.doubtnut.com/l/_iiiM0I3AnFOo
https://dl.doubtnut.com/l/_I1OIzipIApuq


D. 

Answer: D

Watch Video Solution

− log|1 − sinx| + + + log|2 + sin
1

27

1

9(1 − sinx)

1

6(1 − sinx)2

1

27

15. 

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

∫ dx =
cos 2x

cos x

2 sinx + log|secx + tanx| + c

2 sinx − log|secx − tanx| + c

2 sinx − log|secx + tanx| + c

2 sinx + log|secx − tanx| + c

https://dl.doubtnut.com/l/_I1OIzipIApuq
https://dl.doubtnut.com/l/_qeTUhHDSoMiS
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16. If , then 

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

∫√ dx = f(x) + c
cos x − cos3 x

1 − cos3 x
f(x) =

sin− 1(cos3 / 2 x) + c
3

2

cos − 1(cos3 / 2 x) + c
2

3

− sin− 1(cos3 / 2 x) + c
2

3

sin− 1(cos3 / 2 x) + c
2

3

1.  is equal to

A. 

B. 

∫ dx
log √x

3x

(log √x)
2

+ c
1

3

(log √x)
2

+ c
2

3

https://dl.doubtnut.com/l/_UBPh3JxTEeh0
https://dl.doubtnut.com/l/_5Z4HUOk8jfQb


C. 

D. 

Answer: A

Watch Video Solution

(logx)2 + c
2

3

(logx)2 + c
1

3

2.  is equal to

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

∫2x(f' (x) + f(x)log 2)dx

2xf' (x) + c

2x log 2 + c

2xf(x) + c

2x + c

https://dl.doubtnut.com/l/_5Z4HUOk8jfQb
https://dl.doubtnut.com/l/_dj9mVey2sOY3


3. , where c is an arbitrary constant. Here F(x)=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫cos(logx)dx = F (x) + c

x[cos(logx) + sin(logx)]

x[cos(logx) − sin(logx)]

[cos(logx) + sin(logx)]
x

2

[cos(logx) − sin(logx)]
x

2

4.  is

A. 

B. 

C. 

D. 

∫ dx(x > 0)
x2 − 1

x4 + 3x2 + 1

tan− 1(x + ) + c
1

x

tan− 1(x − ) + c
1

x

loge
∣
∣

∣
∣

∣
∣

∣
∣

+ c
x + − 11

x

x + + 11
x

loge
∣
∣

∣
∣

∣
∣

∣
∣

+ c
x − − 11

x

x − + 11
x

https://dl.doubtnut.com/l/_UE4Zn6Tz3ofK
https://dl.doubtnut.com/l/_SUhi5efi2oUz


Answer: A

Watch Video Solution

5. If , 


where c is constant of integration, then f(x)=`

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫esin x( )dx = esin xf(x) + c
x cos3 x − sinx

cos2 x

secx − x

x − secx

tanx − x

x − tanx

6. If , where c is constant of

integration then 

f(x)sinx cos xdx = logf(x) + c
1

2(b2 − a2)

f(x) =

https://dl.doubtnut.com/l/_SUhi5efi2oUz
https://dl.doubtnut.com/l/_cPDQJvhSBNgH
https://dl.doubtnut.com/l/_jMC3ghNpDxNC


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

2

(b2 − a2)sin 2x

2

| ∈ |2x

2

(b2 − a2)cos 2x

2

ab cos 2x

7. If  then f(x) is equal

to, (assuming c is an arbitrary real constant)

A. c

B. 

C. 

D. 

Answer: B

∫cos x log(tan )dx = sinx log(tan ) + f(x)
x

2
x

2

c − x

c + x

2x + c

https://dl.doubtnut.com/l/_jMC3ghNpDxNC
https://dl.doubtnut.com/l/_Fol67Lc1dywe


Watch Video Solution

8.  is an equation of a family of

A. straight lines

B. circles

C. ellipse

D. parabolas

Answer: D

View Text Solution

y = ∫cos[2 tan− 1 √ ]dx
1 − x

1 + x

9. If , then A =

A. 

B. 

C. 

∫22x .2xdx = A.22x + c

1

log 2

log 2

(log 2)2

https://dl.doubtnut.com/l/_Fol67Lc1dywe
https://dl.doubtnut.com/l/_XZ9eYuzea8TV
https://dl.doubtnut.com/l/_uFw6zqW4rlAT
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D. 

Answer: D

Watch Video Solution

1

(log 2)2

10. Let be a derivable function,  and . Then

A. 

B. 

C. no sign of f(x) can be ascertained

D. f(x) is a constant function

Answer: A

View Text Solution

f(x) f' (x) > f(x) f(0) = 0

f(x) > 0  for all x > 0

f(x) < 0  for all x > 0

https://dl.doubtnut.com/l/_uFw6zqW4rlAT
https://dl.doubtnut.com/l/_dho9uYVOEz5r
https://dl.doubtnut.com/l/_ayoy3N9aHLvr


1. The value of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
(x − 2)dx

{(x − 2)
2
(x + 3)

7}
1 / 3

( )
4 / 3

+ c
3

20

x − 2

x + 3

( )
3 / 4

3

20

x − 2

x + 3

( )
4 / 3

+ c
5

12

x − 2

x + 3

( ) + c
3

20

x − 2

x + 3

https://dl.doubtnut.com/l/_ayoy3N9aHLvr

